XYZ,,=100.0, 100.0 , 100.0

8= a, [ (x=x) /)
bz bylz/y
a=1, by =-0,4 55G,
X, = 0,110, B, = 0,900
Crg=[AF+BA
6 OstwaldFarben (o)

Parameter:
B, Y & Name
Lichtart EOO
Y,,=100 Y\=0

'
von maximalem (m)C, im _1'00
Buntwertdiagram (A,, B,)

Lichtart E00, Y,,=10Q Y,=0 EOCﬂ

Name Bereich X, Y, Z, %, ¥,
570_775 65.52 40.49 0.24 0.6165 O, sm 593 489
494 775 83.39 94.82 619 0.4522 0.5141 573 463
494_570 18.07 54.52 6.14 0.2295 0.6924 536 536¢
380_570 34.67 59.7 99.95 0.1784 0.3072 489 598
380_494 168 537 940 0.1446 0.0462 463 573
570_494 82.12 45.67 94.05 0.3701 0.2058 536c536
380_775 1000 100.0 100.0 0.3333 03333 100%
38077501 01 01 0333203332 0%
380_775180 180 180 0333303333 18%

Z==000<2
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